ADVANCEYD USE OF PERCEMTAEES

0,

T RANS CR, PT

|, Increan‘ns /Jecfe«s'me& aQa ivd\n(ﬁ'{'\—l lo:.) a ﬁ\'\ltn percenhj{‘

2. RQV-QISQ Pz(ccn{'aﬁ-c Ffob\.ew\S.

|. Inc,reasin3 /ﬁ'eLfCAS"ﬂﬁ a 7uanéi<’\1 Ej a ﬁwe-—. Pg/cen(-age,

a.  Irerease €65 by WA
Firct €ad 14 of £CS
165 x 004 = £4.10
Add Ehs o oriﬁ‘.nul

£eS + 4490 = £74.00

A'H:Unl\ln'\lﬁ me,él-.oo(
66} + 149 = W4 )
Find |14 b of 245

£¢¢ x 14 = £74.00

b, Increase 126 hy 5\3 32/
Fid 1125 of 12§ Ky

125 kg x 1.32 = |6$ky

C. Inereate 43 m ’:;‘:] A
Fmd 1084 of 43m

4im A 1.OB T 46.44 m

d. Decrenie £34 by 177
Find 17/, of £34
£84 x0.07 = £14.28
Subkrack ERis £rom origimal

284 — £14.28 = £64.72

A"éefna(?';ve he&l«‘od
o0 % — 17% = 83/
Find %1/ of £%4

£34 x 0.833 = £44.72
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e. becrease 120 kﬁ 63 g Z £ Becrcasg 4.00 5‘3 35'7»
looj —~ 84 = a2l 00 -3 =S
Frod 927,, of 'ZOKf) Frmd é,s';, o€t 400,
|20 kq x0.42 = 10.4 kg A00m RO 68 = 200m

2. RQ\)CISQ Percan{-qcse, Pro!;lems'

| € Your boss qave qov 4 [o) 70 Pms rise and Ehen a 1074

P“"l cuh) wiould LJouf PaY Eten be:

a More Ehan be'élo\f: Ehe Etwo c_l—\anﬁes occuried

b. Less Ehan before ElLe twe C.L'Ahﬁes occvurved

C. The $ame «f before the Eweo cL«hﬁes occurred

Su,o/:osc or‘.s‘ma‘ me wa éloo
Aftes 10 7 Pay rise e would be £io

A.{éer [07, 'oat) cv b |€' would 52_ ‘éq‘(

SO ij woul#‘ B{ "CSS ELAv\ éf;‘stha‘ .l'

a. Th a Sk\ﬁ w.(:k 2(2; O‘\C'F o coab s FN.LCJ a,'t‘ é48

What woag the an‘ain'd price before Ehe Stte?

Or"sind Price » 0.7 = £ag

So £4'8 = 0-7S— - ohbl'nal Pﬁ'ce
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Zag < 0.7 = 4ta4

We can check Ehic it correck by Euking 2C7 of€ £iq
25’74, o 416 and £ea -€It dves qve ‘é43‘

Notiee that ad&l;‘njoanZ ot 443 oes not q e e

corcect angwer 2C 4 of 448 i\ 412 ad €48 +€2 = 4e0
Houcuu, Ra You Lilce of€ 2C ) the. £lo — £17 = £45 neb

448 ax rupm‘md‘

b. After ,'D{'"f\ IS’Z o€ hig wa:‘akb on & Jn‘e(-) a4 man

weiﬂkezf 63 ks_ \What was hig ariﬁina( ue..'ca"tl'?

Oriﬁ.lha{ N((.tdhb X 0.8 = égkj
So ‘4,3m3 + 0.8§ = ofiginal we.‘al-\l-

éxt«s < 0,86

g0 k'3

c. A television g fnce.l ot £288 jnclusive of 20 70 VAT

What i{ the price exclusive of VAT ?

Ex VAT price % 1,20 = £28%
o £288 <T).20 T Ex VAT price

£2838 )20 = £240
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d.

A'Féu a S'Z PA~3 vf"f_(a Wohn had & L\oufl«l Y‘d\é( o€ P“j

of £6.72 . What wat hig previevs kowh’l rate of 'Om} ?

Previovt rate x lLog = £6.72
so 6.7 = ).o8 = Previewt reate

£6.72 = l.og = £4¢.40

—
——




